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E)H the end of this lesson you will be able to:

~Whrite an equation for a gra]:)}'xﬂd function
~( onvert ﬁquatfﬂns to it's Vertex [ orm

]
= ===

~ GraPh Eciu.:atic:nns from Vert&x I orm
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Writing Equations From Graphs

‘\Nt‘* can determine a function’s c‘:ciuatir_‘m i_?..r,_} L15j1'1g the vertex

and stretch. ‘51;:*:}15 for writing an cqua tion from a given g}r'aph:

i. "ind the vertex, (h.k).
2. Flug in the h and k values into the vertex formula:
y = alx - h)*+ k.
5. Now Pi::L’. another Point, l:x,y), from the grapim
4. Flug in the values for « and Y into your new ﬁquati-:-n and

thcn SDluc FDr a.

3. F[ug in the value for a into your ﬂquati-:m from step 2.
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Writmg Equatmns I rom Graphs

i d the r-:lua’rlmn for the function
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Writmg Equattons }:mm Graphs

i d the r-:lua’rlmn for the function
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Writing Equations From Graphs

m—g § . - B .
i ind the ﬂ-;ﬂlun’mm for the function.

Vertex is (2,0) and goes through the point (3,4)
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Writing Equatians I rom Graphs

m—g § . - B .
i ind the ﬂ-;ﬂlun’mm for the function.

=t P
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Cﬂnverting to Vertex [Torm

How do we grapl‘l a c:luac:]ratif: ﬂc::luatir:-n 133 hand
that is not in vertex form?

This s very ditficult to do, so instead we will

convert the cjrfgina Equati{jn into vertex form.

: 1 . - . ol .i
Kﬁmﬂ mber: _]_}1{" ('ilJﬂi"J]'ﬂtIE function f::}rrﬂ 1'1};} = ax -+ E?a}; + ¢



Lr:ﬁﬁc}n # 40 V-::rtf:x form of a Farabﬂla

inding the vertex:
[“inding N

We will find the x-coordinate of the vertex EH using 2a .

V\,u: w1ii fmfj the EUEJ!‘E‘%PU'}‘(JIHJ L}--mﬂlut cn{tlﬂﬂ vertex bi_j P!ugrn%

la’ nto DU!'EL‘iLlﬁtIDH and 59’&*1115 f:::rﬁtj.
Now we have our VERTE X as 6 , f2)).

AFtﬂr we've found our vertex we will use it in our vertex form

and we will use the ﬂriginal a from F{x} = ax>+ bx + c.

5::: wWe I-lavc Yy = 11:#:. —11"1 + {:Lb—j
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Convcrting to Vertex [Torm
EEHH‘:F‘J;E: \Write each ﬁquntimn n vertex Form.

f(x) =2x?+ 12x + 13
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Convcrting to Vertex [Torm

1 Al . . .
I__ xample: \, yrte each ﬁquntlf_m n vertex Form.
d |

f(x)= x*+ 6x+2
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Convcrting to Vertex [Torm
EEHH‘:F‘J;E: \Write each ﬁquntimn n vertex Form.

f(x)=—x*+4x +2
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Graphing Quadratics
To graph:

1. Convert to Vertex Form.

2. Plot the Vertex.
3. Use a"t" chart to find two points to the left and two

points to the right of the vertex.
4. Plot the points and connect the dots. (Remember

arrows!)
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Graphfng Quadratics

Ex 1: Graph the function.
f(x) = 3(x + 3)*
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Ex 1: Graph the function. (WORK)
f(x) = 3(x + 3)?
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Graphfng Quadratics

Ex 2: Graph the function.
f(x) = x* + 6x + 2
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Ex 2: Graph the function. (WORK)
f(x) = x*+6x + 2
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Graphfng Quadratics

Ex 3: Graph the function.
f(x) = —5x% — 40x — 8
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Ex 3: Graph the function. (WORK)
f(x) = =5x% — 40x — 80
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E)H the end of this lesson you will be able to:

~Whrite an equation for a gra]:)}'xﬂd function
~( onvert ﬁquatfﬂns to it's Vertex [ orm

]
= ===

~ GraPh Eciu.:atic:nns from Vert&x I orm

(:angou?




E_n:“:.'&-ﬁ['nl'. # 40 ‘\.,-"Iﬁr't:n:fx Form of a Tjs-li'é-]l':'-:'}lé-]

I—lomework:

Instructions: Ignore the "axis of symmetry".

Assignment 40



